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1.With reference to Non Banking Financial Companies (NBFCs),
consider the following statements:

1. They can neither accept demand deposits nor issue cheques
drawn on itself.

2. They are not required to maintain Cash Reserve Ratio (CRR).
3. Like banks, they must also adhere to Priority Sector Lending
(PSL) rules.

Which of the statements given above are correct?

(a)1 and 2 only

(b)2 and 3 only

(c)1 and 3 only

(d)1,2and 3

2.With reference to International Financial Service Centre (IFSC),
consider the following statements:

1. It deals with flows of finance, financial products and services
across borders.

2. In India, IFSCs cannot be established within a special economic
zone.

3. Gujarat International Finance Tech-city (GIFT city) has been
developed as first IFSC in India.

Which of the statements given above are correct?

(a)1 and 2 only

(b)2 and 3 only

(c)1 and 3 only

(d)1,2and 3

3.Consider the following statements in the context of the term
Development Impact Bonds (DIB):

1. These are contracts in which private investor finance for social
programmes are paid back by public sector agencies only if the
desired social outcomes are achieved.

2. Recently the world's first healthcare DIB was launched in
Rajasthan to focus on improving the quality of care among private
maternity care providers.
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Which of the statements given above is/are correct?
(a)1 only
(b)2 only
(c)Both 1 and 2
(d)Neither 1 nor 2
4.Priority Sector Lending by Lending by banks in India constitutes
the lending to
(a) Agriculture
(b) micro and small enterprises
(c) weaker sections
(d) All of the above
5.Under the Provisions of the Banking Regulation Act, 1949 RBI
can
1.Examine on oath any director or other officer of the bank
2.Issue directions to banks for resolution of stressed assets
3.Prohibit banks against entering into any particular transaction
Which of the above statements is/are correct?
@1,2
(b)2,3
(c)1,3
(d)1,2,3
6.Recently tokenisation was in news. It is related to
(a) Generating Virtual Aadhaar Number
(b) New Blockchain Technology
(c) Enhance the safety of the digital payments
(d) Electronic Voting Machines
7.With reference to Insolvency and Bankruptcy code, consider the
following statements:
1. It aims to consolidate existing insolvency laws under single
legislation.
2. It proposes a Debt Recovery Tribunal to oversee the process of
insolvency resolution for companies.
3. It lacks provisions to deal with cross border insolvency.
Which of the statements given above are correct?
(a)1 and 2 only
(b)2 and 3 only
(c)1 and 3 only
(d)1,2and 3
8.Which among the following factors can contribute to appreciation
of rupee?
1. Strong foreign capital outflows
2. Lower current account deficit
3. High inflation compared to other countries
Select the correct answer using the code given below.
(a)1 and 3 only
(b)1 only
(c)2 only
(d)None
9.Gini Index or Gini coefficient primarily depicts which of the
following?
(a)lncome Inequality
(b)Unemployment
(c)Gender Disparity
(d)Per capita income
10.With reference to Gender Budgeting in India, consider the
following statements:
1. It is a process of keeping a gender perspective in policy/
programme formulation, its implementation and review.
2. Government of India introduced the first gender budget
statement in 2005-06.
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Which of the statements given above is/are correct?
(a)1 only
(b)2 only
(c)Both 1 and 2
(d)Neither 1 nor 2
11.World Energy Outlook (WEO) report is published annually by
(a)International Energy Agency
(b)United Nations Environmental Programme (UNEP)
(c)World Bank
(d)Organization of the Petroleum Exporting Countries (OPEC)
12.Which of the following could be the expected outcomes of full
capital account convertibility?
1. High Volatility of rupee
2. More Foreign Direct Investments (FDI)
3. Enhanced External Commercial Borrowings (ECBs)
Select the correct answer using the code given below.
(a)1 and 2 only
(b)2 and 3 only
(c)1 and 3 only
(d)1,2and 3
13.With reference to MUDRA bank, consider the following
statements:
1. It will act as a refinance institution and as a regulator for the
micro finance institutions.
2. It has been setup as a wholly owned subsidiary of SIDBI.
3. In lending, MUDRA gives priority to enterprises set up by the
under-privileged sections of the society.
Which of the statements given above is/are correct?
(a)1 only
(b)1 and 2 only
(c)2 and 3 only
(d)1,2and 3
14.In the context of Indian economy, which of the following is/are
part of the 'Reserve Money'?
1. Currency in circulation
2. Bankers' deposit with RBI
3. Deposit by multilateral institutions with RBI
Select the correct answer using the code given below.
(a)1 only
(b)1 and 2 only
(c)2 and 3 only
(d)1,2and 3
15.To obtain full benefits of demographic dividend, what should
India do?
(a) Promoting skill development
(b) Introducing more social security schemes
(c) Reducing infant mortality rate
(d) Privatization of higher education
16.With reference to Wholesale Price Index (WPI), consider the
following statements:
1. The base year for calculation of WPI has been fixed as
2004-05.
2. ltincludes indirect taxes in order to reflect the impact of fiscal
policy.
3. Itis used by RBI for formulation of monetary policy.
Which of the statements given above is/are correct?
(a)1 only
(b)1 and 2 only
(c)2 and 3 only
(d)None
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17.With reference to Peer To Peer (P2P) Lending, consider the
following statements:

1. It refers to a form of crowd-funding used to raise loans for
people who need to borrow, from people who want to invest.

2. It enables individuals to borrow and lend money without any
financial institution as an intermediary.

3. All P2P platforms in India are considered as non-banking
financial companies and are regulated by the RBI.

Which of the statements given above is/are correct?

(a)1 only

(b)1 and 2 only

(c)2 and 3 only

(d)1,2and 3

18.In the context of Indian economy, 'Marginal Standing Facility'
provides for

(a)purchase and sale of government securities by the RBI.
(b)borrowing by scheduled commercial banks from the RBI for
emergency situations.

(c)lending by scheduled commercial banks to industry for foreign
investments.

(d)restructuring of Non-Performing Assets.

19.With reference to debt for nature swaps (DFNs), consider the
following statements:

1. These are financial transactions where a portion of a developing
nation's foreign debt is forgiven in exchange for local investments
in environmental conservations.

2. The proceeds generated from DFNs can only be monitored by
Global Environment Facility.

Which of the statements given above is/are correct?

(a)1 only

(b)2 only

(c)Both 1 and 2

(d)Neither 1 nor 2

20.Which of the following may lead to Inflation?

1. Hoarding

2. Cartelization

3. Speculation

Select the correct answer using the code given below.

(a)1 and 2 only

(b)2 and 3 only

(c)1 and 3 only

(d)1,2and 3

21.With reference to Currency Deposit Ratio, consider the
following statements:

1. It shows the amount of currency that people hold as a
proportion of aggregate deposits.

2. It reflects the people's preference for liquidity.

3. It increases during the festive season.

Which of the statements given above are correct?

(a)1 and 2 only

(b)2 and 3 only

(c)1 and 3 only

(d)1,2and 3

22.Consider the following statements regarding Bear Market:

1. It is a market that is on the rise.

2. In a bear market, investors rush to sell their stocks instead of
buying.

3. During it the country's economy is strong and employment
levels are high.

Which of the statements given above is/are correct?
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(a)1 only
(b)2 only
(c)1 and 3 only
(d)1,2and 3
23.Which of the following factors led to the development of
Bangalore-Chennai industrial region?
1. Presence of Gondwana coalfields
2. Development of Hydroelectric power
3. Cotton hinterland
4. Presence of oil fields
Select the correct answer using the code given below.
(a)1 and 4 only
(b)2 and 3 only
(c)1 and 3 only
(d)2 and 4 only
24.Consider the following:
1. Change in Foreign Exchange Reserves
2. External Commercial Borrowing
3. Foreign Portfolio Investment
Which of the above are part of Capital Account under Balance of
Payment?
(a)1,2and 3
(b)2 and 3 only
(c)1 and 2 only
(d)1 and 3 only
25.Which of the following statements is/are correct with reference
to Exchange Traded Funds (ETFs)?
1. They are listed and traded on stock exchanges like regular
shares.
2. Generally they are more liquid than mutual funds.
Select the correct answer using the code given below.
(a)1 only
(b)2 only
(c)Both 1 and 2
(d)Neither 1 nor 2
26.General Anti-Avoidance Rules (GAAR) are sometimes seen in
news in the context of
(a)visa applications.
(b)environmental impact assessment.
(c)drug trafficking.
(d)tax administration.
27.With reference to Balance of Payment account, J curve effect
theory states that:
(a)country's trade deficit initially increases following a devaluation
or depreciation of its currency.
(b)country's trade deficit initially reduces and then eventually
comes back to a point above the initial level.
(c)country's currency initially appreciates and then eventually
suffers a deep fall.
(d)None of the above
28.Consider the following statements regarding Generalized
System of Preferences:
1. It is preferential tariff system extended by developed countries
to developing countries.
2. It involves reduced Tariffs or duty-free entry of eligible products
exported by beneficiary countries to the markets of donor
countries.
Which of the statements given above is/are correct?
(a)1 only
(b)2 only

(d)1,2 3R 3
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(c)Both 1 and 2

(d)Neither 1 nor 2

29.The term “Red Herring prospectus” refers to a

(a)document filed by a company before registering with Registrar
of companies.

(b)notice issued by Interpol to seek location and arrest of wanted
persons.

(c)document filed during Initial Public Offer containing information
about company’s operations.

(d)document issued by IUCN for conservation of Red herrings.
30.The World Bank Group consists of which of the following
organizations?

1. International Bank for Reconstruction and Development

2. International Development Association

3. International Finance Corporation

4. International Centre for Settlement of Investment Disputes
Select the correct answer using the code given below.

(a)1, 2 and 3 only

(b)2 and 4 only

(c)1, 3 and 4 only

(d)1,2,3and 4

31.Which of the following statements is/are correct with respect to
Marginal Cost of funds based Lending Rate (MCLR)?

1. It is determined by the RBI.

2. It is more sensitive to policy rates than Base Rate.

3. It aims to ensure availability of bank credit at interest rates
which are fair to borrowers as well as banks.

Select the correct answer using the code given below.

(a)1 only

(b)1 and 3 only

(c)2 and 3 only

(d)1,2and 3

32.Consider the following statements with respect to Angel
Investors:

1. They provide capital for business start-ups.

2. Angel investor funds are classified as a sub-category of Venture
Capital Fund by SEBI.

Which of the statements given above are correct?

(a)1 only

(b)2 only

(c)Both 1 and 2

(d)Neither 1 nor 2

33.Which of the following factors of production can be called a
working capital?

1. Yarn used by weaver

2. A farmer’s plough

3. Clay used by potter

Select the correct answer using the code given below.

(a)1 and 2 only

(b)2 only

(c)1 and 3 only

(d)1,2and 3

34.'Tax Inspectors Without Borders (TIWB)', often seen in news, is
(a)an initiative to facilitate the tax audit assistance programmes in
developing countries for effective mobilization of domestic
resources for Sustainable Development Goals.

(b)a specialized agency of the United Nations to provide technical
and expertise assistance to local audit staff of all the UN
members.

(c)the initiative of World Trade Organization to resolve tax
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disputes between developed and developing countries.

(d)an inter-governmental organization to crack down on tax
evasion by multinational corporations.

35.The Financial Stability and Development Council (FSDC):

1. monitors functioning of large financial conglomerates

2. fixes the benchmark policy interest rate (repo rate) to contain
inflation

3. focuses on financial literacy and financial inclusion

4. addresses inter-regulatory coordination

Select the correct answer using the code given below.

(a)1 and 4 only

(b)1, 3 and 4 only

(c)2 and 3 only

(d1,2,3and 4

36.With reference to Transfer Pricing Mechanism, the term Safe
Harbour refers to the:

(a)set of goods and services exempted from transfer pricing
mechanism.

(b)set of conditions in which tax authorities accept the taxpayer
declared transfer prices.

(c)agreement between a parent company and its subsidiary on an
appropriate pricing methodology.

(d)exemption of a category of taxpayers from specialised Transfer
Pricing scrutiny.

37.With reference to the foreign trade of India, consider the
following statements:

1. India’s exports have steadily increased in the last
decade.

2. India’s trade balance has steadily declined in the last
decade.

Which of the statements given above is/are correct?

(a)1 only

(b)2 only

(c)Both 1 and 2

(d)Neither 1 nor 2

38.Which among the following are the members of European Bank
For Reconstruction and Development (EBRD)?

1. China

2. India

3. United States of America

4. Russia

Select the correct answer using the code given below.

(a)1, 2 and 3 only

(b)1 and 4 only

(c)2, 3 and 4 only

(d1,2,3and 4

39.Consider the following statements regarding Real Effective
Exchange Rate (REER):

1. Itis the weighted average of a country's currency in
relation to an index or basket of other major currencies,
adjusted for the effects of inflation.

2. Anincrease in index of REER as compared to its base
year is an indicator of undervalued currency.

3. The Indices of Real Effective Exchange in India are
released by Ministry of Finance.

Which of the statements given above is/are correct?
(a)1 only

(b)1 and 2 only

(c)3 only

(d)1,2and 3
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40.Which of the following best defines "Effective Revenue
Deficit"?

(a)lt is the difference between incoming imports and outgoing
exports in an annual financial year.

(b)lt is the difference between fiscal deficit and interest payments
made by the government on loans borrowed.

(c)lt is the difference between revenue deficit and grants-in-aid
given for creation of capital assets.

(d)lt is the difference between the total revenue earned and total
expenditure made by the government in an year.

41.Consider the following statements regarding the Marginal
Standing Facility (MSF):

1. It is a mechanism for lending funds to banks by the Central
bank on overnight basis.

2. Being a penal rate, MSF is a costlier route than Repo.

3. MSF is linked to the Net Demand and Time Liabilities (NDTL) of
the banks.

Which of the statements given above are correct?

(@)1,2and 3

(b)1 and 2 only

(c)2 and 3 only

(d)1 and 3 only

42.TReDS, often seen in news, is a/an

(a)online platform by Ministry of Corporate Affairs to increase
awareness about trade related initiatives.

(b)initiative of RBI to facilitate MSME payments from corporates.
(c)mechanism by IMF to facilitate payment of financial
commitment of countries in accoradence with their quotas.
(d)portal by Ministry of Road Transport and Highways to facilitate
e-bidding for road projects.

43.Which of the following statements is not correct regarding
Reserve Bank of India (RBI) ?

(a)The Union government has no power to supersede Central
Board of Directors of RBI.

(b)The responsibility for circulation of both Bank notes and Coins
is entrusted with the RBI.

(c)The Union government can issue directions to RBI from time to
time on grounds of public interest.

(d)Monetary Policy Committee has representation from both RBI
and the Union Government.

44 .\With reference to the Index of Industrial Production (lIP),
consider the following statements:

1. Itis an indicator of growth in both manufacturing and services
sectors.

2. It is compiled and published by Central Statistics Office (CSO).
Which of the statements given above is/are correct?

(a)1 only

(b)2 only

(c)Both 1 and 2

(d)Neither 1 nor 2

45.Engel Coefficient, a term often seen in news, refers to:

(a)a measurement of food expenditures as a proportion of total
household spending.

(b)an indicator of the proportion of an individual's expenditure on
personal health and well-being.

(c)a multi-dimensional indicator of poverty and standard of living.
(d)a tool to measure the proportion of household consumption of
IT and related services.

46.With reference to National Anti-Profiteering Authority (NAA),
consider the following statements:
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1. Its main function is to ensure that traders are not realizing unfair
profit by charging high price from consumers in the name of GST.
2. Investigations of profiteering are done by the Directorate
General Anti-profiteering.
3. Consumers can directly make complaints to the authority
without having to go through National Consumer Disputes
Redressal Commission.
Which of the statements given above are correct?
(a)1 and 2 only
(b)2 and 3 only
(c)1 and 3 only
(d)1,2and 3
47.With reference to Outcome Budget in India, consider the
following statements:
1. It lists the projected outcomes under various schemes or
programmes.
2. Ministry of Finance, along with NITI Aayog, releases a
combined outcome budget for all ministries.
3. Outcomes, as measured in the budget, are listed only in terms
of the monetary value generated.
Which of the statements given above is/are correct?
(a)1 and 2 only
(b)2 only
(c)1 and 3 only
(d)1,2and 3
48.Which of the following will fall under the Capital account of the
Balance of Payments (BoP) of India?
1. Non-Resident Deposits
2. Short-term credit
3. Remittances
Select the correct answer using the code given below.
(a)1 and 2 only
(b)1 and 3 only
(c)2 and 3 only
(d)1,2and 3
49.With reference to the Millets, consider the following statements:
1. The year 2018 was declared as the National Year of Millets.
2. India is the leading producer of millets in the world.
3. Millets are not covered under the Minimum Support Prices
(MSP) regime.
Which of the statements given above are correct?
(a)1 and 2 only
(b)2 and 3 only
(c)1 and 3 only
(d)1,2and 3
50.With reference to New Development Bank, consider the
following statements:
1. Fortaleza declaration in 2014 provided for the setting up of
NDB.
2. It is headquartered at Beijing.
3. China has the largest share of initial subscribed capital in NDB
among the BRICS countries.
Which of the statements given above is/are correct?
(a)1 only
(b)2 only
(c)1 and 3 only
(d)1,2and 3
51.Consider the following statements with regard to Micro
Irrigation Fund (MIF):
1. It has been set up with NABARD under Pradhan Mantri Krishi
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Sinchayee Yojana.
2. This fund refinances the financial institutions which provide
assistance on concessional rate of interest to encourage
micro-irrigation.
3. Farmer cooperatives can access financial assistance under it.
Which of the statements given above is/are correct?
(a)1 and 2 only
(b)1 only
(c)1 and 3 only
(d)2 only
52.A rise in general level of prices may be caused by
1.An increase in the money supply
2.A decrease in the aggregate level of output
3.An increase in the effective demand
Select the correct answer using the codes given below.
(a) 1 only
(b) 1 and 2 only
(c) 2 and 3 only
(d)1,2and 3
53.If the interest rate is decreased in an economy, it will
(a) decrease the consumption expenditure in the economy
(b) increase the tax collection of the Government
(c) increase the investment expenditure in the economy
(d) increase the total savings in the economy
54.An increase in the Bank Rate generally indicates that the
(a) market rate of interest is likely to fall
(b) Central Bank is no longer making loans to commercial banks
(c) Central Bank is following an easy money policy
(d) Central Bank is following a tight money policy
55.Consider the following liquid assets:
1.Demand deposits with the banks
2.Time deposits with the banks
3.Savings deposits with the banks
4.Currency
The correct sequence of these assets in the decreasing order of
liquidity is
(@)1-4-3-2
(b)4-3-2- 1
(c)2-3-1-
(d)4-1-3- 2
56..Consider the following specific stages of demographic
transition associated with economic development:
1.Low birthrate with low death rate
2.High birthrate with high death rate
3.High birthrate with low death rate
Select the correct order of the above stages using the codes given
below:
(@1,2,3
(b)2,1,3
(c)2,3,1
(d)3,2,1
57.What does venture capital mean?
(a) A short-term capital provided to industries
(b) A long-term start-up capital provided to new entrepreneurs
(c) Funds provided to industries at times of incurring losses
(d) Funds provided for replacement and renovation of industries
58.Consider the following statements with reference to
Incremental Capital Output Ratio (ICOR):
1. It indicates additional unit of capital needed to produce an
additional unit of output.
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2. High labour productivity can reduce the ICOR.

Which of the statements given above is/are correct?

(a)1 only

(b)2 only

(c)Both 1 and 2

(d)Neither 1 nor 2

59.India had recently signed the currency swap agreements with
Governments of Japan and UAE. Which among the following are
likely impacts of currency swap agreements?

1. It helps to bring down the cost of funds for Indian companies
while borrowing from the foreign market.

2. It helps to protect the rupee from exchange rate fluctuations.
3. It helps in internationalization of the rupee.

Select the correct answer using the code given below.

(a)1 and 2 only

(b)1 and 3 only

(c)2 and 3 only

(d)1,2and 3

60.Government of India launched a scheme named 'SAMARTH'
to:

(a)improve the credit capacity of financial institutions.

(b)provide skills to the youth for gainful and sustainable
employment in the textile sector.

(c)promote entrepreneurship among women under Stand Up India
Mission.

(d)strengthen the Self Help Group-Bank Linkage.
61.'"Commercial Paper', often seen in news, is best described by
which of the following statements?

(a)Government bonds with maturity less than a year.
(b)Unsecured short-term money market instrument issued by
corporates and financial institutions.

(c)Saving certificate given by commercial banks against a deposit.
(d)long-term loan whereby the seller of a security agrees to buy it
back at a specified price and time.

62.Which of the following are the sources used by Reserve Bank
of India (RBI) to build its reserves?

1. Interest on government bonds

2. Income from investment in foreign currency assets

3. Earnings retained after giving dividends to government

4. Revaluation of foreign assets and gold.

Select the correct answer using the code given below.

(a)1, 2 and 3 only

(b)2, 3 and 4 only

(c)1 and 4 only

(d)1,2,3and 4

63.Consider the following statements about depreciation:

1. It is a decrease in monetary value of an asset over the time
period.

2. High level of depreciation decreases the amount of net
investment.

3. Frequent accidents and natural calamities increases the
depreciation.

Which of the statements given above is/are correct?

(a)1 and 2 only

(b)1 and 3 only

(c)2 only

(d)1,2and 3

64.Consider the following statements about the Blockchain
Technology:

1. Blockchain is an open and decentralized ledger which has an
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ordered and time-stamped record of transactions between peer to
peer.
2. It eliminates the need for a third party for conducting
transactions.
3. Recently IMF has launched 'BOND-I', the world’s first public
bond created and managed using only blockchain.
Which of the statements given above are correct?
(a)1 and 2 only
(b)2 and 3 only
(c)1 and 3 only
(d)1, 2and 3
65.The term 'Impossible Trinity', sometimes seen in news, is best
described as
(a)lt is impossible for any Central bank to manage 'exchange
rates, open current account and capital account' all at the same
time.
(b)Government can not manage 'exchange rates, open current
account and capital account' all at the same time.
(c)lt is impossible for any Central bank to manage a fixed foreign
exchange rate, free capital movement and an independent
monetary policy at the same time.
(d)lt is impossible for any government to manage 'fiscal deficit,
current account deficit and inflation rate' all at the same time.
66.Consider the following statements about Real Estate
Investment Trusts (REITs):
1. They raise funds from a large number of investors and directly
invest in real estate properties.
2. SEBI has regulatory jurisdiction over REITs.
3. Mutual Funds are allowed to invest in REITs while Banks are
not.
Which of the statements given above is/are correct?
(a)1 only
(b)1 and 2 only
(c)2 and 3 only
(d)1 and 3 only
67.Consider the following statements regarding taxation trends in
India for the last five years:
1. There has been a consistent decrease in gross tax
revenue as a percentage of Gross Domestic Product.
2. The contribution of direct tax revenue has been
consistently more than fifty percent to gross tax revenue.
Which of the statements given above is/are correct?
(a)1 only
(b)2 only
(c)Both 1 and 2
(d)Neither 1 nor 2
68.In the field of Economics, term Paris Club is used for
(a)a group of Central banks of all the G7 nations.
(b)an informal group of creditor nations whose objective is to find
workable solutions to payment problems faced by debtor nations.
(c)an informal group of nations which demand for the early
implementation of Singapore issues at WTO.
(d)a group of all the nations whose currencies form the part of
Special Drawing Rights (SDR) at IMF.
69.Consider the following statements about Disinvestment:
1. It refers to the government selling or liquidating its assets or
stakes in PSE (public sector enterprise).
2. The nodal agency for disinvestment is Department for
investment and public asset management (DIPAM) under Ministry
of finance.
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3. The proceeds from disinvestment of Central Public Sector
Enterprises are channelized into National Investment and
Infrastructure Fund (NIIF).

Which of the statements given above are correct?

(a)1 and 2 only

(b)1,2and 3

(c)1 and 3 only

(d)2 and 3 only

70.Which of the following is the primary objective of the recently
launched Pradhan Mantri Kisan Samman Nidhi (PM-KISAN)?
(a)To provide technological support in agricultural activities.
(b)To encourage farmers to focus on allied sectors in agriculture.
(c)To provide direct income support to the farmers.

(d)To provide direct employment to farmers in MGNREGA.
71.Which among the following was/were recommended by the
FRBM review committee setup under the chairmanship of N. K.
Singh?

1. Achieving a combined Centre and states Debt-to-GDP ratio of
60% by 2023.

2. Creation of a fiscal council with the Chief Economic Advisor as
the Chairman of the council.

3. Maintaining a maximum inflation rate of 4% in the economy.
Select the correct answer using the code given below.

(a)1 only

(b)1 and 2 only

(c)2 and 3 only

(d)1,2and 3

72.Which of the following can lead to the narrowing of the Current
Account Deficit of India?

1. Depreciation of Rupee

2. Hike in remittances from NRIs

3. Fall in crude oil prices

Select the correct answer using the code given below.

(a)1 only

(b)2 and 3 only

(c)1 and 2 only

(d)1,2and 3

73.Who among the following are eligible to be a part of recently
launched mega pension scheme called 'Pradhan Mantri
Shram-Yogi Maandhan scheme'?

(a)workers working in central and state public sector units (PSUs)
of age from 21 to 55 only.

(b)all organized and unorganized workers in India of age 65 years
and above.

(c)unorganized workers of atleast 18 years of age are eligible to
join this scheme.

(d)all workers part of National Apprenticeship Training
Programme.

74.Which of the following best describes 'Credit Default Swap'?
(a) Itis a collective pool of credit maintaned by banks and RBI to
deal with non performing assets.

(b)Dilution of equities in loss making public sector units by
Government.

(c)Writing off defaulted loan amounts in an financial institutions.
(d) It is a type of insurance against default risk by a particular
company.

75.Consumer Welfare Fund created under the GST Act will be
funded through the:

(a)proceeds of fine imposed on corporates for profiteering
activities.

(a)Faer 13K 2

(b)1,23R 3

(c)yhaer 1 3R 3

(d)haer 2 3R 3
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(b)integrated GST levied by the Central government in case of
inter-state supplies.
(c)unclaimed input tax credit on the GST paid on purchases.
(d)revenue generated through issue of e-way bills.
76.Consider the following statements regarding the Marginal
Standing Facility (MSF) of RBI:
1. It is always fixed above the repo rate.
2. MSF borrowings can only be done on an overnight basis.
3. It is available only to scheduled commercial banks.
Which of the statements given above are correct?
(a)1 and 2 only
(b)2 and 3 only
(c)1 and 3 only
(d)1,2and 3
77.Who among the following can benefit from the high rates of
Inflation in the economy?
1. Creditors
2. Debtors
3. Tax Payers
Select the correct answer using the code given below.
(a)1 and 2 only
(b)1 only
(c)2 only
(d)1,2and 3
78.With reference to the Socio-Economic Caste Census (SECC)
2011, consider the following statements:
1. It seeks to provide authentic information regarding the
socio-economic condition of both urban and rural households.
2. It uses the Tendulkar methodology for poverty estimation.
3. It replaces the census survey carried out every 10 years.
4. It is released by the Ministry of Statistics and Programme
Implementation.
Which of the statements given above is/are correct?
(a)1 only
(b)1, 2 and 3 only
(c)2, 3 and 4 only
(d)1,2,3and 4
79.In India, deficit financing is used for raising resources for
(a) economic development
(b) redemption of public debt
(c) adjusting the balance of payments
(d) reducing the foreign debt
80.In the context of Indian economy, ‘Open Market Operations’
refers to
(a) Borrowing by scheduled banks from the RBI
(b) Lending by commercial banks to industry and trade
(c) Purchase and sale of government securities by the RBI
(d) None of the above
81.The balance of payments of a country is a systematic record of
(a) All import and export transactions of a country during a given
period of time, normally a year
(b) Goods exported from a country during a year
(c) Economic transaction between the government of one country
to another
(d) Capital movements from one country to another
82.The national income of a country for a given period is equal to
the
(a) total value of goods and services produced by the nationals
(b) sum of total consumption and investment expenditure
(c) sum of personal income of all individuals
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(d) money value of final goods and services produced
83.The Reserve Bank of India regulates the commercial banks in
matters of
1.liquidity of assets
2.branch expansion
3.merger of banks
4.winding-up of banks
Select the correct answer using the codes given below.
(a) 1 and 4 only
(b) 2, 3, and 4 only
(c) 1,2, and 3 only
(d)1,2,3,and 4
84.In India, for the production of fertilizers, the industry requires
the import of:
1. Liquefied Natural Gas
2. Muriate of Potash
3. Rock Phosphate
Select the correct answer using the code given below.
(a)1 and 2 only
(b)2 and 3 only
(c)1,2and 3
(d)1 and 3 only
85.In the context of Indian economy, consider the following
statements regarding Gross Fixed Capital Formation (GFCF):
1. Higher the growth rate of GFCF, higher would be productive
capacity of the economy.
2. Higher FDI in the economy can improve the GFCF.
3. GFCF has consistently improved over the last decade.
Which of the statements given above is/are correct?
(a)1 and 2 only
(b)2 and 3 only
(c)3 only
(d)1,2and 3
86.Which of the following parameters is/are adopted by RBI for
implementing Prompt Corrective Action on commercial banks?
1. Capital to Risk-weighted Asset Ratio (CRAR)
2. Net Non-Performing Assets
3. Return on Assets
Select the correct answer using the code given below.
(a)1 and 3 only
(b)2 and 3 only
(c)1 only
(d)1,2and 3
87.With reference to the Special Safeguard Mechanism (SSM) of
WTO, consider the following statements:
1. It is a tool for temporarily raising the tariffs to deal with import
surges.
2. It can be adopted only for agricultural commodities.
3. All members of WTO are entitled to adopt SSM for protecting
the domestic producer.
Which of the statements given above is/are correct?
(a)1 and 3 only
(b)2 only
(c)1 and 2 only
(d)1,2and 3
88.Capital gains tax in India will be applicable if:
1. a rural agricultural land, held for five years, is sold at a profit.
2. equity shares of a listed company, held for more than one year,
are sold at a loss.
3. a house purchased 5 years ago, is sold at a profit.
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Select the correct answer using the code given below.
(a)2 and 3 only
(b)3 only
(c)1 and 2 only
(d)1,2and 3
89.With reference to the Foreign Direct Investment (FDI) in India
in the last five years (2013-18), consider the following statements:
1. FDI inflows have witnessed consistent growth in the last five
years.
2. Maximum FDI has been received from Japan.
3. Real Estate has been the highest recipient of FDI during this
period.
Which of the statements given above is/are correct?
(a)1 only
(b)3 only
(c)1 and 2 only
(d)1,2and 3
90.Which of the following functions can be performed by
Non-Banking Financial Companies?
1. Acquisition of shares, bonds and securities issued by the
Government.
2. Accepting demand deposits from customers.
3. Issuance of cheque book to customers.
Select the correct answer using the code given below.
(a)1,2and 3
(b)1 only
(c)2 and 3 only
(d)None
91.Which one of the following is likely to be the most inflationary in
its effect?
(a) Repayment of public debt
(b) Borrowing from the public to finance a budget deficit
(c) Borrowing from banks to finance a budget deficit
(d) Creating new money to finance a budget deficit
92.Convertible notes, often seen in the news, are a tool for:
(a)regulation of foreign entities in India by SEBI.
(b)getting a company listed on stock exchanges.
(c)raising capitals for start-ups.
(d)none of the above
93.Which of the following reports are published by World Bank?
1. Global Economic Prospects
2. Global Financial Stability Report
3. Doing Business Report
4. World Economic Outlook
Select the correct answer using the code given below.
(a)1, 2 and 3 only
(b)2 and 4 only
(c)1 and 3 only
(d)1,2,3and 4
94.Which of the following is/are forms of fiscal stimulus?
1. Increased funding for infrastructure development.
2. Reduction in repo rates by RBI
3. Reducing Tax rates
Select the correct answer using the code given below.
(a)1 and 3 only
(b)2 and 3 only
(c)1 only
(d)1,2and 3
95.Consider the following statements:
1. Gross Domestic Product (GDP) is always higher than the Gross

(byohaer 3
(c)Fadr 1 3R 2
(d)1,2 3R 3
89.73e1d ura auf (2013-18) & ERTeT HRA # FeIaT facel faraer (FDI)
& TS H, ﬁmﬁ@a%ﬂﬁwﬁwaﬁﬁv
1. 1391 ara @it & eRrel FDI & 3icide & flel Jef2 g8 &1
2. 31 ad FDI SITYTe & 9Ted 37T &1
3. 39 39 & gk gaTfas FOI Rae weee garT ured faar

T
3Red HUAT H T Hla-an/d T 887
(a)Fae 1
(b)haer 3
(c)dhaer 1 3R 2
(d)1,231 3
90.3R-dfhe1 fair sufaat ganT fAeafafaa gt 74 &
fonarenT/faheTanT farsuTesT fohdT ST TehdlT 82
1. TR ganr fAafAa R, arvst 3R afdegfar s
3ifrargo
2. T Y HIT STAT TSR =T
3. FEHI I Uh oh ST T
;hﬁmmazwmmmﬁmaﬁm
(a)dhae 1
(b)eharer 2
(c)yhaer 2 3R 3
(d)1,23R3
91. T ToIfld 3 & e & FoTTa 3 T 37T FETEhIT et &r
TG &7
(a) WTESIfash HOT T Fenlclr
(b) FoTe BTE T e SAaEAT & AT FeTe F IUR ore
(c) F5Te T1e T faaaIvoT el & forw St & 34R o=
(d) ST T FHHT Y G et o forw 74T #g1 e e

92.91: FIETT 7 Ig=1 atel IRATAT Aled (Convertible notes)

ffafdd & & fFE &d T 3Ua0T 87

(a)SEBI aRT $1Re 3 feel sehrgat o Rafargs et &)

(b)wmﬁaﬁmwﬂaﬁrﬂmmﬁ%m

(c)!—‘dﬁ:ﬂ%ﬁtrqsﬁaaﬁf%m

(d)3TeFd & & IS ST
ﬁmﬁ@ﬁﬁﬂﬁﬁﬂﬁﬁﬁ%@aéﬁmwﬁﬁﬁmp

oS SPIAHG
;ﬁﬁﬁamwa;rmawaﬁmaﬁm
(a)Faed 1,2 3R 3
(b)mzaﬂu
(c)ydhaer 1 3R 3
(d)1,2,33R4
94. Frafaf@a & @ Fia-ara T Nchgs Fi/a &9 &/87?
1. AETHeT fashy g fadaior & gefer
2. RBIgaRT T &3t & sl andar
3. oY eIl & AT HEr
AT feT 97T e T YT T FEY IR A7)
(a)Faer 131X 3
(b)eaer 2 3R 3
(c)haeT 1
(d)1,2 3R 3
95.Jrfaf@d Yl W far fifaw:
1. Hehel B 3cUTG (GDP) Had Hehel ASEY 3cdTe (GNP) &
Hﬁa?g’lm%|
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National Product (GNP).
2. Net National Product (NNP) at factor cost is referred to as
National Income.
3. GDP represents the sum total of Gross Value added in all
sectors without adjusting for taxes and subsidies by the
government.
Which of the statements given above is/are correct?
(a)1 only
(b)2 and 3 only
(c)2 only
(d)1,2and 3
96. Recession is
(a) An economic contraction when the GDP declines for 2
consecutive years
(b) An economic boom when the GDP increases for 2 consecutive
years
(c) An economic contraction when the GDP declines for 2
consecutive quarters
(d) None of them
97.Consider the following about Goods and Service Tax
1. Itis a destination based tax
2. All the goods will be taxed at same rate
Which of the following is/are correct?
(a) Only 1
(b) Only 2
(c) Both 1 and 2
(d) None of them
98.Which of the following measures would result in an increase in
the money supply in the economy?
1.Purchase of government securities from the public by the
Central Bank
2.Deposit of currency in commercial banks by the public
3.Borrowing by the government from the Central Bank
4.Sale of government securities to the public by the Central Bank
Select the correct answer using the codes given below:
(a) 1 only
(b) 2 and 4 only
(c)1and 3
(d)2,3,and 4
99.With reference to Balance of Payments, which of the following
constitutes/constitute the Current Account?
1.Balance of trade
2.Foreign assets
3.Balance of invisibles
4.Special Drawing Right
Select the correct answer using the code given below.
(a) 1 only
(b)2and 3
(c)1and 3
(d)1,2and 4
100.Disguised unemployment generally means
(a) large number of people remains unemployed
(b) alternative employment is not available
(c) marginal productivity of labour is zero
(d) productivity of workers is low

2. FR® ANTd R e TSET 341 (NNP) T TSR 31T &
&9 F TefHd [ar ST g1
3. GDP &R gaRT &1 AR AfcHsT o TARST & foar asir
8131 & Hehol AT TEYT & Fel AT Y TR HAT ¥
Iqad FUAT F F FA-any T 7
(a)Fae 1
(b)aer 2 3R 3
(c)hael 2
(d)1,2 3R 3
96. 'Ha Recession) frd g &
(a) T aﬁﬁwmmwzaﬁmm%
(b) SEY AR 2 At de deat I 3nTF 3oTer
(c) T 3n1T¥eh Teprerat STa SIS & oeTaR 2 foanfeat & forw fiRkrae

Ty

(d) 3T & IS &Y

97.3]34 Us #idq &g & aR A Arafaf@a w i Y
1.8 U e IR Y

2. gt HET R U 8 &3 J T AT

PR daslaaradrg/ 2

(a) Faef 1

(b) FaeT 2

(c) 1 3R 2 gt

(d) mﬁﬁaﬂéa‘é‘r

;ﬁ%mﬁ@aﬁﬁ%méaﬁmﬁmaﬂqﬁﬁaﬁ%
5

1. Fo0IT S GaRT AT ¥ TSR Ffcsgfarr i adig

2. SfeAdT ganT aﬁﬁmmm

3. Waamaﬁ%a%@rwam
4. FT Fob GIRT AT T TSR Ffaaifaat i fawa
mﬁmmaﬁwmm'\q‘é‘rmaﬁ
(a) hael 1
(b) Faer 2 3R 4
(c) Faer 13X 3
(d)2, 3, 3R 4
99.379TCTeT Holl o TeeT &, foleet & § ahleT =To] Wl T ITSeT / TSt
RRATE?
1. SATIR HdoleT
2 faeely anfeaar
3. 3T T3 T HJelel
4. TV 3TEoT AN
AT feT 97T e T TG Fleh HEN 3R Gl |
(a) Fadl 1
(b) Faer 2 31k 3
(c) Fhaer 13X 3
(d) 1,234
100,981 ST Hl AT 3L Bl &
(a) TS HEAT 3 #leT SUSHIR Ed §
(b) ST USTTR 3T eT & &
(c) & & HATd ScdTGehdT e BIdl &
(d) &R} &Y 3caTEHar F @ &
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